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(1) Rēx partem urbis animālibus dēdicat.  (2) Nāvibus et carrīs hominēs animālia  ___ urbem portant. (3) Optimā in parte urbis animal, nōmine Clētus, mūrum ascendit. (4) Mūrus ab animalī partem optimam urbis nōn clausit.   (5) Ubi hominēs urbis animal vīdērunt, animal circumdedērunt.  (6) Quod fuit ________, animal vulnerāre nōn dēsīderāvērunt.  (7) Terrēre animal ad partem tūtam urbis temptāvērunt.  (8) In carrum animal lūdivicāvērunt et animal timidum ad suam partem urbis revertit. Fuit tūtum. 

 1. Who or what is the subject in (1)?
a. Rēx
b. animālia
c. urbis
d. partem
2. In (1) “animālibus” is best translated?
a. with animals
b. by animals
c. to or for animals
d. without animals
3. “Nāvibus et carrīs” in (2) are ablatives of…
a. means
b. place where 
c. manner
d. accompaniment
4. The blank in (2) would best be filled with…
a. cum
b. sine
c. in
d. ā
5. Who is the subject of (3)?
a. parte
b. urbis
c. animal
d. mūrum
6. In (3), “urbis” is…
a. dative
b. ablative
c. genitive
d. complementary infinitive
7. In (4), “animalī ” is ablative of…
a. separation
b. place where 
c. manner
d. accompaniment

8. In (4), “clausit” is…
a. present
b. imperfect
c. future
d. perfect
9. When the men saw the animal, what did they do?
a. killed it
b. ran away from it
c. called to it
d. surrounded it
10. What word would fit best in the blank in (6)?
a. pulchrum
b. pulchra
c. pulcher
d. pulchrō
11. In (6), “Terrēre” is…
a. dative
b. ablative
c. genitive
d. a complementary infinitive
12. What tense is “temptāvērunt” in (7)?
a. present
b. imperfect
c. future
d. perfect
13. Who is the subject of the verb “revertit” in (8)?
a. animal
b. partem
c. urbis
d. b and c
14. In (8), “in” and “ad” are…
a. Ablative of place where
b. Accusative place to which
c. ablative of accompaniment
d. accusative of time
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